Balancing Chemical Equations (Key)
Front Side

Please note that several of these equations are already balanced as written. They, of course, are
unchanged from the worksheet.
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2Ho+ Op---> 2 H20

Sg+ 120y ---> 8S03

2HgO ---> 2Hg+ O»

Zn+ 2 HCIl---> ZnCly + H»

2Na+ 2H20---> 2 NaOH + H»
CioH16 + 8Clo---> 10C + 16 HCI

4 SipH3z + 1107 ---> 8SiO2 + 6 HY0
4Fe+ 302> 2Fey03

2C7HgO2 + 1502 ---> 14 CO2 + 6 H20O

. 4FeSy> + 11 Oy ---> 2 FepO3 + 8 SO2

. FeoO3 + 3Hy > 2Fe + 3 HYO

. 2K + Bry ---> 2KBr

.2CoHy + 505 > 4C0O2 + 2H20
. 2H20O2 > 2H0 + O

. C/Hig + 1102 > 7CO2 + 8H20
. Si0» + 4HF --> SiF4 + 2H0

. 2KCIO3 --> 2KCl + 309

. 4KCIO3 ---> 3KCIOs + KCI

. P4O190 + 6 H)O ---> 4 H3PO4

.4Sb + 302 ---> Sbs0Og

.C3Hg + 50 --->3C0O2 + 4H20

. FeoO3 + 3CO --> 2Fe + 3CO2

. PCls + 4H0O ---> 5HCI + H3PO4
.8HS + 8Cl, ---> Sg + 16 HCI
.3Fe + 4H)O ---> Fe304 + 4H>
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. 2Caz(POy)2 + 6SiOy ---> P4019 + 6 CaSiO3

. NoOs + H»O ---> 2 HNO3

. 2Al + 6HCI ---> 2AICI3 + 3H>

. 6H3BO3 ---> H4BgO11 + 7 H20

.3Mg + N2 ---> MgsN>

. 2NaOH + Clp ---> NaCl + NaClO + H»0

No + 3Hy ---> 2 NH3

2Ny + O2 ---> 2N20

6 CO2 + 6 HO ---> CgH1205 + 602

SiClg + 4H30 ---> H4SiO4 + 4 HCI

2 H3POy4 ---> H4P207 + H0

CO2 + 2NH3 ---> OC(NH2)> + H20

2 AI(OH)3 + 3 H»S0O4 ---> Alx(SOyg)3 + 6 H2O
Feo(SO4)3 + 6 KOH ---> 3 KySO4 + 2 Fe(OH)3
HoSO4 + 8HI > HoS + 41, + 4H20
2Al + 3FeO ---> AlbO3 + 3Fe

Nap,CO3 + 2 HCI ---> 2 NaCl + HoO + CO»
Ps + 502 ---> 2Py0s5

KoO + HyO -—-> 2KOH

4Al + 302 > 2AIl»03

2Na0y + 2H2O ---> 4NaOH + O

C + HO --> CO + H»

2 H3AsO4 ---> AsyOg + 3 H20

Alx(SOy)3 + 3 Ca(OH)2 --> 2AI(OH)3 + 3 CaSOq4
FeCl3 + 3NH40H ---> Fe(OH)3z + 3 NH4ClI
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Balancing Chemical Equations (Key)
Reverse Side

LioO + H»O ---> 2 LIiOH 91. H3PO4 + 5 HCI ---> PCl5 + 4 H>0

CaCy +2H20 ---> CoHy + Ca(OH), 92. 2HCI + KoCO3 ---> 2KCI + HO + CO»
2 Fe(OH)3 --> FexO3 + 3 HY0 93. Ca(ClO3)2 ---> CaCl, + 30>

2Pb(NO3)2 ---> 2PbO + 4NOy + O 94, CoH50H + 207 > 2CO + 3 H20

BaO + HoO ---> Ba(OH)» 95. Xe + 3F2 ---> XeFg

3Ca + 2AICI3 ---> 3CaCl> + 2Al 96. NH4NO3 ---> N>O + 2H20

4NH3 + 6NO —> 5Ny + 6H0 97. 2Au203 —> 4Au + 303

4 H3PO3 ---> 3H3PO4 + PH3 98. 2C4H19p + 1302 ---> 8CO2 + 10H20
FeoO3 + 3C > 3CO + 2Fe 99. FegO4 + 4Hy > 3Fe + 4H>0
4FeS + 702 ---> 2Fey0O3 + 4S0- 100.3 Oy ---> 203

4NH3 + 502 --->4NO + 6 H20 101. I + 6 HNO3 ---> 2HIO3 + 6 NO2 + 2H>

4Si + Sg --> 2Si»Sy 102.2CgHg + 1502 ---> 12CO» + 6 H2O
HgoCO3 ---> Hg + HgO + COo 103. CoHsOH + 302 ---> 2CO2 + 3 H20
SiC + 2Clp --> SiCly + C 104. 12 HCIO4 + P4019 ---> 4 H3PO4 + 6 CloO7
AlsCz + 12 H0 --->3 CH4 + 4 AI(OH)z 105. 3 BaCly + Alx(SO4)3 ---> 3BaSO4 + 2 AICI3

V205 + 6 HCI ---> 2VOCI3 + 3H20 106. (NH4)2Cro07 ---> Cro03 + N2 + 4 H>0
AgoS + 4 KCN ---> 2 KAg(CN)2 + KoS 107. 2 NaHCO3 ---> NapCO3 + CO2 + H0
AuzS3 + 3Hy --> 2Au + 3H5»S 108. Fex(Co04)3 > 2FeCy04 + 2CO2
2CI0O2 + HoO ---> HCIO», + HCIO3 109. CazP2 + 6 HO ---> 3Ca(OH)>, + 2 PH3
4KO2 + 2C0Op ->2KoCO3 + 302 110. 2As + 6 NaOH ---> 2 NazAsO3 + 3 H>

2 MgNH4PO4 ---> MgoP207 + 2NH3z + H0

MnO, + 4HCI ---> MnCl, + 2H0 + Clp

Pb + 4Na + 4 CyHs5Cl ---> Pb(CoHs)s4 + 4 NacCl

Ca(OH), + H3PO4 ---> CaHPO4 + 2H20

Zn + 2NaOH + 2H70 ---> NazZn(OH)z + H>

SrBro + (NH4)2CO3 ---> SrCO3 + 2 NH4Br

3 Hg(OH)2 + 2H3PO4 ---> Hg3(POg4)2 + 6 HO

2Caz(POy)2 + 6SiO, + 10C ---> 6CaSiO3 + P4 + 10CO

1409 ---> 1206 + I2 + Og2 (this equation can be balanced with various sets of coefficients)

8,9,7,9 4,1,7,15 2,2,2,3 2,1,3,6
2CoH3Cl + 502 --—->4C0O2 + 2H0 + 2HCI

2 (NH4)2Cro07 ---> 4NH3z + 2HO + 2Crp03 + 302

2Al + 2NaOH + 6 HoO ---> 2 NaAl(OH); + 3 H»

2 NH4Cl + Ca(OH)2 ---> CaCl, + 2NH3 + 2 H>0O

3 Al + 3NH4CIO4 ---> Al>O3 + AICI3 + 3NO + 6 H2O

H>SO4 + 2NaHCO3 ---> NaxSO4 + 2CO2 + 2H20

CaigF2(POg)s + 7 HoSO4 ---> 3 Ca(HoPOg4)2 + 7CaS0O4 + 2 HF

Caz(POgy)2 + 2H2S0O4 ---> 2CaS0O4 + Ca(H2POg4)2

H3POg4 + 12 (NH4)2M0O4 + 21 HNO3 ---> (NH4)3PO4 - 12M003 + 21 NH4NO3 + 12 H>0
2C4H1g + 4Clo + 1109 > 6CO2 + 2CClg + 10H20

2C7HiopN + 21 Oy --> 14CO2 + 10HO + 2NO2



